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Public Administration
Paper 1I

TRAITET

gyTutseht 11
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.
AT : A1 TRAAehd TR TR (50) SgUERE U fooiel Rd. Uoeh SEAlen g ()

O FRA. WE WA e

1. According to whom “Administration | 1. ‘‘wHfgh e I IImEE 3T Th
is a type of co-operative effort that YR 2ATe 1 S 3= fagendr o19q’ '
has a high degree of rationality” ?

(A) TR TfAh
(A) Luther Gullick

(B) o9 HeHg,
(B) Brooks Adams

(C) <€l =reel
(C) D. Waldo

(D) TH. TH. AR
(D) F.M. Marx

2. IR-YIMEATES! 9 Tieh SHaETgT hiond

2. For mal-administration new public

management holds responsible : SRR R 2
(A) Policy makers (A) &R fmfa
(B) Bureaucracy (B) ThIgTE
(C) Market competitiveness (C) oS T
(D) Consumerism (D) S9ERTETE

[P.T.O.



Herbert Simon’s contribution is

significant in the field of :

(A) Communication

(B) Decision making

(C) Leadership

(D) Authority

The fundamental characteristics
of Weberian model of bureaucracy
is :

(A) System of rules

(B) Hierarchy

(C) Human relations

(D) Competency

The first major exponent of the

traditional theory of motivation is :
(A) F.W. Taylor

(B) Henri Fayol

(C) McGregor

(D) Maslow Abraham

FEB-21213/11

gold GIHHA AT WTATcTdeh! Shivredl &sd

Hgqu ANRE SR ?

(A) Hg=H
(B) ol frufro

(C) g

(D) AfY=RR

SER AT ARG W HeAsd Sfereed
HId ?

(A) fra=R e
(B) 9cEMH
(C) HFetT gay

(D) 9med

SITIRTr= qRue fagae afea 7@
YA hIU ?

(A) Th. T&. <R
(B) &I walA

(C) HHIR

(D) HIEAl s




Herzberg has written a book

entitled :
(A) Work and Nature of Man
(B) Changing Organizations

(C) Human Relations in

Organization
(D) Politics of Bureaucracy
Flat structures facilitate :
(A) Close supervision
(B) Lateral communication
(C) Initiative
(D) Co-ordination

According to which theory

“leadership is multi-dimensional” ?
(A) Behavioural

(B) Situational

(C) Trait

(D) Path-Goal
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o oo N

goiart W fafecen gwaer e -

(A) g% 3Tvg =X A® HF
(B) =fS SHUHEE
(C) TgF foierd 37 SANTHRERH

(D) difcifesrm 31t SAshet

U T GTeiTerdeh! Ty Ffaerssh

sHfad ?

(A) Trrean wdaem

(B) SHEIE Gg=H
(C) YerhrR
(D) 9H<F

Hive fagraye Aqe ST
s|d 2"

(C) fagrsr U

(D) YI-i&dy

[P.T.O.



10.

11.

The first comparativist in Public

Administration is said to be :
(A) Kautilya

(B) Machiavelli

(C) Woodrow Wilson

(D) Fred Riggs

For development Montgomery

concentrated specially on :
(A) Internal Security

(B) Communication

(C) Health & Education
(D) Infrastructure

The country that does not have

permanent and professional

bureaucracy at the policy-making

level is :
(A) USA.
(B) India
(C) UK

(D) France

10.

11.
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ATRIIMEATA Ofgcll didideh Il

Telictish! HIE A S ?
(A) =ifeea

(B) Hehegail

(C) g2 faee
(D) ®e o9

=l + faerramame fagvd: Eretierdent
HIMR A higd Hal ?

(A) Sfia FIam
(B) Hg=A
(C) I emfor fereror

(D) drRnYd gferen

IO TSI G0 R0 qrdesian
T STt Fergrteh ARl @ 2

(A) STfEh
(B) wRd
(C) T

(D) %A




12.

13.

14.

One of the classical approach to the
study of Comparative Public

Administration is :

(A) Cyclic study approach

(B) Behavioural approach

(C) Legal approach

(D) Interdisciplinary approach

In U.S., UK. and India the

hierarchical ladder 1in the

departments is :
(A) Rigid

(B) Flexible

(C) Less important
(D) Ignored

The stronger position of the U.S.
President is somewhat neutralised

by his lack of control over :
(A) Secretaries of State

(B) Congress

(C) Government departments

(D) Judiciary

12.

13.

14.
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ATk ARIIMEA STATHET Wik

T fysia gftesh o ?

(A) T AT gfeh

(B) ST gl
(C) Jure gftes
(D) STARMEE gfesh

TR, TTere omfor vRa ardid fasn-
THEY TSI 0 hioedl Tl A ?

(A) TR
(B) w@feeh
(C) = Hg@m=t
(D) geiferd

AR TA 37T Tooh{ TTH

EeieTUeh! Il SZehiadial {I=Tom=a

HWE FHled e Feldd 38 ?
(A) TSFr= HiwE

(B) =@

(C) Sm&ehd forum

(D) I IEAq

[P.T.O.



15.

16.

17.

Increasing role of bureaucrats

in policy making in India is due

to :

(A) Political instability

(B) Technical nature of the policies
(C) Role of interest groups

(D) Growing interaction between

politicians and administrators

The main aim of ‘Development

Administration’ is to :

(A) Increase income

(B) Adopt e-Governance

(C) Provide social security
(D) Enrich the quality of life
Fred the

Riggs describes

relationship between ‘Development
Aministration and Administrative

Development’ as :

(A) two sides of one coin
(B) Chicken and egg

(C) Contradictory

(D) Supplementary

15.

16.

17.
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qRAdie dRor fidr 7ed et

qfHehT STeUard RO hIvd ?

(A) TSThIg SRR
(B) #Rume qifsish WEq
(C) feagas Ter=h yfien

(D) USThRON A0 U9Eeh  AT=ATd e

JTedl STaLfeha

“foshra gemEATET @A I HI0TC

e ?

(A) 3O 9

(B) ‘3T’ =1 fEwn
(C) wmifSeh GRa=n qaan

(D) SaT&R 9= 0

“foepm gemEA oTfur WREehtg foer’

Hel ?

(A) THI A SF 99
(B) hieel 9 31
(C) ToRremardt

(D) T




18.

19.

20.

The most debated problem of public

sector is :

(A) Excessive bureaucratisation
(B) Lack of autonomy

(C) Political interference

(D) Lack of funds

Who are authors of ‘Development

Debate’ ?

(A) Pai Panandikar and M.P.

Sharma
(B) Ferrel Heddy and Montgomery
(C) Fred Riggs and Daya Krishna
(D) Weidner and Polombara

State undertakings are development

administration as these are :
(A) Planned structure

(B) Capital intensive

(C) Community oriented

(D) State-administered

18.

19.

20.
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HreSien el 31fYes fadereae guen
I ?

(A) 3fd R EmEiRT

(B) TRl ST9E

(C) TS B8

(D) Tedi=n stwre

‘Sdre feae’ A1 U™ T@h R
Mmed ?

(A) T uHfesy onfor wa. @Y.
(B) %X BEr 3mfur Af=mad
(C) Hhe Towr onfor g Fom

(D) arfsTeR Afor drersm

T 3UHH B ToehTd I STRd, Rl
q e

(A) Trafsa Sfea emed
(B) wead wiRd

(C) HHemE
(D) T YR

[P.T.O.



21.

22.

Good informal organisation rest on :
(A) effective co-ordination

(B) supportive processes

(C) informal interaction

(D) flexibility

Assertion (A) and Reason (R) :

Assertion (&) — Public admini-
stration differs from private
administration in measurement of

efficiency.

Reason (R) — Private admini-

stration is profit oriented.

Answer the question by using the

code given below :
Code

(A) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

21.

22.

FEB-21213/I1I
ATt ST HHAT MR ST

THd ?
(A) 9Tl THEd

(B) WerRIshrl Yfehan

(C) SHITIRIsh AR
(D) <Tafdaehal
fagm (A) 9 RO (R) :

faam () — wEamar 99T eTER

ARYIMEA, SISl T oo
Bid.
HRUT  (R) —@ST JYMEA RIS
3.

el Gfgd=l o e 99 S

ferer
et

(A) 3= (A) 9 (R) sUsX 38
(R) ¥ (A) ¥ AT TSR
3T

(B) T (A) I (R) s 38 W
(R) ¥ (A) ¥ AT TASIHIT
Bl

(C) (A) R 3R, Wq (R) I&
38

D) (A) g% R, Wq (R) TN
3




23.

24.

25.

Which British Act made government
a ‘Responsible Government’ in

India ?

(A) 1909
(B) 1919
(C) 1935
(D) 1947

‘Departmentalization of Accounts’ in

India started from :
(A) 1985
(B) 1976
(C) 1973
(D) 1968

Who, for the first time called the
Indian Civil Service as “The Steel

Frame of India” ?
(A) Lord Kimberley
(B) Loyd George
(C) Lee Commission

(D) Sardar Patel

23.

24.

25.
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R8s | G L £ N o B B A 2 3 | R SR E A R |

‘SR I’ IaFa ?
(A) 1909
(B) 1919
(C) 1935

(D) 1947

ARA ‘TR favmfietor’ s
gE o ?

(A) 1985

(B) 1976

(C) 1973

(D) 1968

YR A g ¢ R diere] =R’
a0 ufecaigr wIOT A ?

(A) dfs fwveet
(B) wifsTe SISl
(C) <t s

(D) &R Ud

[P.T.O.



26.

27.

28.

29.

Which Article of Indian Constitution
is related with Central Finance

Commission ?
(A) 280
(B) 281
(C) 290
D) 291

Generalists are more suitable to
higher posts because of their :

(A) Broad outlook

(B) Professionalism

(C) Special knowledge
(D) Courteous behaviour

Which the following does not operate
under the direction of Prime
Minister ?

(A) Cabinet Secretariat

(B) Parliamentary Secretariat

(C) Prime Minister’s Office

(D) National Development Council
Neutrality lies in :

(A) Indifference to policy matters
(B) Non-partisanship

(C) Response to will of every

government

(D) Keeping distance from public

26.

27.

28.

29.

FEB-21213/I1
YA TSI hI0d hotq higd fax

AR fTEd e ?
(A) 280

(B) 281
(C) 290
D) 291

TR © Siss TerEnd! S1fyes Iy ofed
HRO AT ;

(A) A9H gfteahid

(B) mergritehdm

(C) fostw =M

(D) 9 =&

TTCTeTdeh! I Od Jemr=A1 et
Herelld e e 2

(A) Hfves gfuare™

(B) T9e wfearca

(C) Tq9H e

(D) uftga sk 9ftee

LA EeiTetdeh! heMd T d 7
(A) €M ST

(B) uerurd foifed

(C) Y% A=A sl 9fddre

(D) SHAIRH 3T T@0

10



30. States in India can borrow provided :

(1)
(2)

Union Government agrees

No outstanding loan with the

Union

(3)

State Legislatures pass such

resolution

(4)

State Finance Department so

approves

Select the correct answer from the

codes given below :
Code

(A) (1) and (2)

(B) (2) and (3)

(C) (1) and (3)

(D) (3) and (4)

FEB-21213/11

30. WU IV A=A STMUR. AR

T ¥R 9% hdd

(1) EB_S' IS Al STEeTd

(2) HEFHeld Hd U THAH

(3) Tsare fadfiveeenegd ad U9
BRI

~

ENIRIERINICACC B IE R

(4) TST
SHHAH

SN LTSN

WAl gl Hiedd-
Fﬁ'ﬂT :
(A) (1) 31 (2)

I W Haer

(B) (2) sAfor (3)
(C) (1) afor (3)

(D) 3) e (4)

31. Which amongst the following is an | 31. Eciiciushl hivd &= FeH
. o
area of Planning Commission ? ST w0
(A) Review of governmental
finances (A) TMERE fod @
(B) Maintain macro-economic
. (B) Ta-aTfdfer feemar fewfawr
stability
(C) Public and foreign loans (C) wrefer afor faesh sl
(D) Suggest restructuring of ~ . .
finance (D) fom=n TIEEAET GEAl
11 [P.T.O.



32.

33.

34.

35.

Satishchandra Committee was
related with civil services in the

context of :

(A) recruitment
(B) promotion
(C) training
(D) retirement

Which of the following plans has
“Inclusive growth” as a main theme ?

(A) First Five Year Plan

(B) Fifth Five Year Plan

(C) Tenth Five Year Plan

(D) Eleventh Five Year Plan
Who was the Chairman of II

Administrative Reforms Com-

mission ?

(A) Veerappa Moily
(B) Pranab Mukher;ji
(C) M.S. Ahluwalia
(D) P. Vitthal

A good hypothesis is difficult in the
absence of :

(A) Theoretical outline
(B) Ability to use

(C) Technical knowledge
(D) Culture boundedness

32.

33.

34.

35.

FEB-21213/I1
gfavres, afadt €T doneht i
Heuld Heeld el ?
(A) Wt
(B) st
(C) uf¥rero
(D) fait

GciieTeh! IO A= HIHTSTeR
foem’’ &1 g& Ml 3 ?

-~

BISE|

(A) 99 Yeaitien

~e N

(B) U=t U=Eftich STl

~e N

(C) <BET T=Ensier ISl

~e SN

(D) 3Th{et TS SIS

T USRI GUR STRINT ST hi0l
Bd ?

(A) oo et

(B) WU @S

(C) TH. TH. SR
(D) . faga

TTeTeTdeh! Y= 319 =Tl Jfed-
=01 51 i o] T o ) B s

(A) uifaew <eke
(B) SUAM &l

(C) dmfth 3

(D) Gr&ehdieh fastdar

12



36.

37.

38.

39.

Statistical analysis is used in :
(A) Quantitative research

(B) Qualitative research

(C) Comparative research

(D) Social research

In a Questionnaire the questions
should not be :

(A) Limited in number
(B) Unambiguous

(C) Specific

(D) Personal

‘Statistical Package for Social
Sciences’ (SPSS) is used for :

(A) Data processing
(B) Data collection
(C) Data analysis

(D) Report writing

What is a catalyst of social

change ?

(A) Basic education
(B) Health

(C) Poverty reduction

(D) Environmental protection

36.

37.

38.

39.

FERB-21213/11
g fasavomer ST=T hImHeS
Bl ?

(A) HEAHE HINEA

(B) TUMcH®: HINEH

(C) JorAreHes Hene

(D) |HIfSe Fened

YeAEA e G S I TG
(A) 9= wHI

(B) 3THEry

(C) fafsrse

(D) Sfrih

"Hfiedha dahs &R AEisTe qeg’
(Tg. ®. T9. THE.) =1 ST HIMER
EXGI I

(A) a2 Yfshaiterto
(B) A HehoH
(C) d=a fogeiom
(D) 3T TG

grTfSeh  Ifedararee 3cdieh hIv

3T ?
(A) Hagd forgo
(B) ™

(C) TRST HHET HO

(D) TATeROT H&T0T

13

[P.T.O.



40.

41.

Which of the following legislations
is not related to the protection

of vulnerable sections of

society ?

(A) The Equal Remuneration

Act
(B) The Dowry Prohibition Act

(C) National Rural Employment

Guarantee Act
(D) The Child Marriage Act
Privatisation is :
(1) A universal concept
(2) A gradual process
(3) A total denationalisation

(4) An increase in public ownership

Select the correct answer from the

codes given below :
Codes

(A) (1) and (3)

(B) (1), (2) and (3)
(C) (3) and (4)

(D) (2), (3) and (4)

40.

41.

FEB-21213/11

GATAYh! HIUAl ST & FHTSAIA

YRR FEHIAT HIUMYN Geaferg

AT ?

(A) UM ddq Il
(B) g1 ufaeigd &Il

(C) U U ISR BHI - <hTael

(D) oA faaE &

G RIETrY R I

(1) dfyges Hehoul
(2) HiHh Ffhar
(3) wqul forrsdtefieRtm

(4) HrESiIeh A 9%

AT TG

o N

[qetedl

e N

Afedq

Tt

ferern .

e

(A) (1) afor (3)
(B) (1), (2) 2for (3)
(C) (3 =mfuor (4)
D) (2), (3) =fur (4)

14



42.

43.

44.

The principal funding to public

enterprises is by :

(A) The Government

(B) Banks

(C) Finance Commission
(D) Financial Institutions
Disinvestment helps in :
(1)
(2)
3)
(4)

Reducing loan burden
Reducing Government share
Reducing interest load

and

Reducing revenue

expenditure gap

Select the correct answer from the
codes given below :

Codes :

(A) (1) and (2)

(B) (1), (2) and (3)

(C) (1), (2), (3) and (4)
(D) Only (1)

A book entitled ‘The Idea of Justice’
is written by :

(A) Robert Dahl

(B) John Rawls

(C) Amartya Sen

(D) Pt. Jawaharlal Nehru

42.

43.

44.

FEB-21213/11
qeSIh ITRAM qed et qfaomn
Tk hIUM ?

(A) =mEd

(B) o

(C) ford M

(D) ot geen

frjderoer shemd Hed id 2
(1) e 3R Al oA
(2) FMEF 9F{ERT HH 0T

(3) AN YR T HITAT

(4) WeYd 9 @9 A STaX HHT HIvA

ereltd dfgdqd aiv watarel fae
S LU

wfgar :

(A) (1) smfor (2)

(B) (1), (2) 3o (3)

(©) (1), (2), (3) =7fur (4)

(D) ® (1)

‘T TS HATE LG AT S I
3Med ?

(A) T T

(B) w9 UcH

(C) T &=

(D) 9. SO 8%

15

[P.T.O.



45.

46.

47.

Which is the basic territorial unit

of administration in India ?

(A) Revenue Division/Sub-division
(B) Tehsil/Mandal

(C) District/Zilla

(D) Village

Office of the District Collector is

patterned on :

(A) Prefect

(B) Commission Plan
(C) City Manager
(D) Town Clerk

The 73rd Amendment Act has added
to which part of the Indian

Constitution ?
(A) Part VIII
(B) Part IX
(C) Part X

(D) Part XI

45.

46.

47.

FEB-21213/11

IRAE REATel qoid &9 3{heh
HITAT ?

(A) wegal faum/3afa«m
(B) defac/vees
(C) fee=t

(D) =

IEHICERIEE IR G PRC NN R E IR IEE
MYNd 3 9d ?

(A) futhae
(B) SiHIE w1
(C) THet HAsr

(D) a3 FIh

YR AfGUMel shivren 9rd 73331
HAT EKITHT FHIATT HITAT ATl S ?

(A) ¥ 373
(B) ¥ 93
(C) w9 <@

(D) Y AR

16
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48, Mahatma Gandhi Rural | 48. T T WiHO ISR &Hi IS e
Employment Guarantee Act el GG Fen ?
(MGREGA) was passed in :
(A) 2002
(A) 2002
(B) 2005
(B) 2005
(C) 2007 (C) 2007
(D) 2008 (D) 2008
49. Which of the following Schedules of | 49. YR HfGwMr= HIRT AT AL
Indian Constitution contains the 44|{q|rﬂqqi-q'] o|',|e‘f| Hl-“rqbd 51|%q ?
functions of municipalities ?
(A) el ST
(A) Fifth Schedule
(B) wrdeit STIE=t
(B) Seventh Schedule
(C) Eleventh Schedule (C) STHTEl ST
(D) Twelfth Schedule (D) SIRTt ST
50. No civil servant is required to resign | 50. IVl SR HeSIeh TEAT= FHaSUH
before contesting election to public AGTUATEIST Fel Skt AfSHrer=
institution in : TRl T
(A) USA (A) 3THRER
(B) UK (B) T
(C) France (C) I H
(D) India (D) I
17 [P.T.O.
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